Efficiency vs dr

x 12
g
[
>
> 1
%)
c
<
o
£ 0.8
(0]
0.6
0.4
0.2
o J..\.e
2 M_ V000 obal__mKHt_IKstaple
© —_— DQM _V0001_R000000001__Global__mkFit_CAND1kstable
@ —_— D M_V0001_R000000001__Global__mkFit_1kswitch
— D M~—V0001_R000000001__Global mkFlt CAND1kswitch

107° 1072 107 1
TP min AR

[ Efficiency vs dr (track,jet) |
0.8

0.7

0.6

0.5

0.4

efticiency vs AR(TP, jet

0.3

0.2

0.1

Vs

Ratio
N

107 1072 107t
AR(TP, jet)

Efficiency vs pu

1.2

H
!
b

efficiency vs PU
o
[e0]
I T

........................

o
(2]
T I T
P
+
*
+
by
+
ESRR. SR
4
Y
s
+

177 RO U SURPUOOS UUPUUI: SUSPINS O

Ratio

=
TTTT T
A
e
oL T s
A
5

0 70 80
Pileup

093 30 40 50

(=]



	Contents
	Page 1


